wR7 FE REHEE MRS - Al AR RBES
- o ® & B R (2 HoH5HD 1)
1) T
1 F B R i
o2 BXO10)
Q) DNA ® BUrIR )
3
o) ®
/‘(‘Cf)/ 20% 77(’G=)V 20% C=20% (40% <2, CDEHE =GO
o — BEE),6=20% (40%+2), T=30%
P4 B 30% ToetB-ADEEE)
2) 2.04 m 18X =3.4 nm+10=0.34 nm,
€ b OEMEILEICE £ 15 DNA 156.0 x
AT B RENEZI LA F I Y —F 4 7 H, S, T 109X hH1 D
(12x 1094 +2) ,0.34 nm % 6.0 x 109
M5 | FEMICARShBRILAFR T ¥ U, NERHE, EREE =2.04x109 nm
=2.04x106 um =2.04x103 mm
&5 M7 27X~ b, M -2.04m
8 5 ) i [0} (e 5’ * i DNAKEEABM CEAL, 5¥2 I#0
BRMHIFENTEAL,
6 N 5 < 7 % o (%) KRFEMEA R B, B &
2ftE | EEV DNA : D E & DDNA : $EVDNA b1 1 (0:2:203BE13A)
7
3fE | BV DNA : D E & DDNA : #EV DNA 0+¢1:3 (0:2:6D/BEXA)
g
2
(2] (a) O (b O (c) X
1
@) X (e) O
£ B A AV R a=1= %
1)
F§2 YT INITIT a7 ()lba
) EHEBE NH4+ HEBE NO2-
(a) Frew (B) UR—2=
)
©) TFT I O | Bz FLX—U EEES
RiSH1 fEHE EITOH AR E A
a3 (@ |BIEH2 7 T BEE HEITOH| v RIT O YR
RIEH3 ETEESR EITOH| IhaL RUT ORNME

3) CeH1206 + 602 + 6H20 — 6CO2 + 12H20
@ 45 TEALREOWER © 6.6mg/44 = 0.15mmol
-2 Mg JNLa—RDER : 180g x 0.15/6mmol = 4.5 mg
(¢ CeHi1206 — 2C3He03
)] i pE BFEEEORFE 64 mg/32 =2 mmol
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(3) CsH1206 — 2C2Hs50H (2C2HsO%A]) + 2C0O2 2 mmol x 44 = 88 mg
TLa—-LRBTREI N ZEE
4) 138 mg LR%EE : 220mg - 88mg = 132 mg

TLa—LREBEO ZBILKFEDR
F8 132 mg/ 44 = 3 mmol

IR/ —ILERE 46 x 3 mmol
INEE =138 mg
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(1) AA :Aa:aa = p2 1 2pg ' g2
Ff2 (2) p= 0.7 g= 0.3 72+800=0.09,2=0.09& ¥q=03, p+q=1&Yp=07,
(3) 0.77 p2=0.49, 2pq=0.42,32=0.09
(AA:800%0.49 = 392, Aa:800x0.42 =336, aa =72)
AR 390 A AA:Aa = 0.49:0.42 = 7:6, AOBEEFIEBEIZ(Tx2+6) +{(7+6)x2) = 0.77CNEEEIRI TRIERAA)
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(pA+qB+r0)2=p2AA+2prAO +q2BB + 2qrBO + 2pqAB +
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(p+tg+r=1)
0%Y(r200) : 250+ 1000=0.25,r2=0.25& > Tr=0.5
BEY(q2BB +2qrBO) : 240+1000=0.24, g2 + 2qr=0.24, r =
05&4Yq2+q=0244£-7Tq=02, p+q+r=1&Yp=
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AR (p2AA+ 2prAO) D A% 1 1000x(p2 + 2pr) = 1000x (0.09 +

0.3)=390A

ABEID A 1 1000x2pg=1000x (2x0.3x0.2) =120A
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